—— A
N = 0] &F AF S & AN A
2022 = 20l AF LEHSIH A A
A EESD
HM: M 2HAH (HLEESH)
G olE2dgY|(HdE2s1) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2= 47,284,347 44,235,344 3,049,003
= 22,605,415
Al 17,003, 100
- 7,675,832
HHSAAY (HLEESY) 64,586 79,833 N 15,247
QlESAH(HAdES ) 38,288 37,007 1,281
olaA2AH(HAaEE) 38,288 37,007 1,281
101 21 214| 36,765 35,484 1,281
02 JIEtE 2 % 36,765 35,484 1,281
OANZEEHAIHOIS(BESAEH) 36,765
—-Jl=22 2,267,160 x 18 x12& 27,206
—JIExE 140,000& x1H x12& 1,680
—ANZ2AZ 2L 8,887 & *30Al 2t*x 1 x12& 3,200
— dHZ A 140,000& x1H ~12& 1,680
— A2 A |
2,126,910 «84%*86%*1/30%1/7+70A| 2tx1&H 513
- S+Eesg
2,126,910 *40/35%84%*8%* 1 122 1,961
— ol s 50,000 «35/40+ 12 ~12& 525
204 22482 H| 1,523 1,523 0
02 238 4| 1,523 1,523 0
OANZEEHAIMOIS(BESAEH)
145,000 *35/40%x 1 H =128 1,523
Jl2dH (a2 0) 26,298 42,826 N 16,528
Jl2dH(HLEE2ED) 26,298 42,826 N 16,528
201 LBt 9| 12,648 15,856 N 3,208
01 AP 22| H| 12,648 15,856 N 3,208
OBAN2g UL L2Y| 5,734 ,000& *95% 5,448
OJI2gRL8HEZD0AH| 7,200
— L BHA 8,000 x14H x53| x12& 6,720
— J|E}Z 8,000 x1H »x53| x12& 480
202 o4 | 10,800 24,120 N 13,320
01 2L HI 10,800 24,120 N 13,320
OJlegsdi=& 0 10,800
— 2 Ht A 60,0002 14 x12& 10,080
— J|EFE 60,000& x1H x12& 720
203 € R F & 2,850 2,850 0
04 EASHEIR2FAH| 2,850 2,850 0
OBA2g9g2x=&Y| 250,000& *12& *x95% 2,850
AHdHE A 1,200,293 1,080,085 120,208
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SN HERS D
M FHBE AH
Sl HERAY BX B (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXOHOH S X 2= AEIH MEH
1,000, 000& 13| 1,000
03 A2 Z Hl 7,560 8,912 A 1,352
O0ls 4= R oYy dad=s 34
7,560,000& 7,560
2o HYotMEBEMEI A 2 26,000 19,200 6,800
Al 13,000
- 13,000
201 L2l 26,000 19,200 6,800
Al 13,000
- 13,000
01 At 22l 26,000 19,200 6,800
OR02 Yot S MEIA 2 26,000,000 26,000
Al 13,000
- 13,000
HEEZH AL 2HAR 135,036 126,382 8,654
= 67,518
Al 67,518
307 glz2+ol & 135,036 126,382 8,654
= 67,518
Al 67,518
10 ALSISXAIEEE2EHEX 135,036 126,382 8,654
ONEEg4EL 2EXNE 135,036, 000& 135,036
= 67,518
Al 67,518
JHE=EY Jtoll A n3EXE T2 29H 16,340 18,840 A 2,500
= 11,438
Al 4,902
307 21201 A 16,340 18,840 22,500
= 11,438
Al 4,902
11T A S XA E = 16,340 18,840 A 2,500
ONE=ZY Jtoil Xt Xz 2208
16,340,000& 16,340
= 11,438
Al 4,902
JHE =24 Jaiod X2 7,000 7,000 0
307 21201 A 7,000 7,000 0
11T MISAASEX 7,000 7,000 0
OJNE=ZY oA Xw & ol At
7,000,000& 7,000
42 Ikt ESANE 29 190,732 172,669 18,063
= 133,512
Al 57,220
307 21201 A 190,732 172,669 18,063




A OaRSD
M FHBE AH
Sl oaRe BH 25 CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 133,512
Al 57,220
10 ALSISXAIEEE2EHEX 190,732 172,669 18,063
OH=Z™ Tkt BESAE 2SI (FELLHO0|
) 190,732,000 190,732
2 133,512
Al 57,220
A= HIoHA ESAIE AR dAHSH X2 8,627 8,522 105
= 8,627
307 glz2tol & 8,627 8,522 105
= 8,627
11T AISI S XA E = 8,627 8,522 105
OLZ2 IS 2SN 22l N30 X
2 (Hl==27) 8,627,000 8,627
= 8,627
Ad=8 IohA Xigsls T2 29 9,800 9,800 0
= 6,860
Al 2,940
307 gl2tol & 9,800 9,800 0
2 6.860
Al 2,940
11 AISI S XAEE = 9,800 9,800 0
O8=" Ik Ngsls T2 2Y
9,800,000& 9,800
= 6,860
Al 2,940
GEZAMNARSAL SAXNA(BSAE YT E 4,800 4,800 0
)
Al 4,800
307 21201 A 4,800 4,800 0
Al 4,800
10 ALSISXAIEEE2EHEX 4,800 4,800 0
O&8=" okt BESAE X2 N
4,800,000& 4,800
Al 4,800
ZAOHHE =AHAXNJAY 79,086 75,398 3,688
= 55,360
Al 23,726
307 glz2+ol & 79,086 75,398 3,688
= 55,360
Al 23,726
10 ALSISXAIEEE2GHEX 79,086 75,398 3,688
OZ4 Ui E F=AHXNEAY 79,086,000 79,086
= 55,360
Al 23,726
ZEATIH0EE FAHANIMNY dHES2 948 1,925 AQ77




FN: HHdESD
By GMES AH
Sl oy BN B35 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 948
402 RI2EX20| A 948 1,925 A9TT7
= 948
02 QI EAILEZ (01X E) 948 1,925 AN9TT
OZYIHHE =AHXNIANY LdUHEES
948,000 948
= 948
HEHAANE SAN =X X 1,750 1,850 A 100
Al 1,750
307 gl2tol & 1,750 1,850 A 100
Al 1,750
10 MBI ZXNANEHI2IHEX 1,750 1,850 A 100
ONE=ga4gs SAL SR X 700,000 700
Al 700
O4dZ" Ok E3AE SAEL SX K&
750,000& 750
Al 750
OZ4dIloidd =AHXIAE M =X N
300,000& 300
Al 300
HERHAAANE SAX SSAH2Z & 1,200 600 600
Al 1,200
307 2I2t0l A 1,200 600 600
Al 1,200
10 ALSISEXAIEEE2EHEX 1,200 600 600
OJNBZAMG A AN SHAL BT
600,000& 600
Al 600
OdZH Ikt ESAE SALL SEgA283H8
| 400,000& 400
Al 400
OZLUHHE F=AHXNIEANE SAXL SEgAZ
&4 &l 200,000 200
Al 200
OHEHAAIE AlHIXI& Q12| 72,812 77,538 N4, 726
Al 72,812
307 2Iztol ™ 72,812 77,538 N4, 726
Al 72,812
10 M SXNANEHE2IHE=S 72,812 77,538 AN4,726
OE =g aga SALAR Al Q14|
40,898,000 40,898
Al 40,898
OdZHNi A ESAE SALL AlHl el2id|
30,733,000& 30,733
Al 30,733




SH: HERSD
HE: SHBS AH
Sl HERAY BX B

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O=S0ol018 FANBANE BAK AlDl 92
i 1,181,000 1,181
Al 1,181
HEAAANAE SAL SSH L 2elk = 9,000 0 9,000
Al 9,000
307 gl2tol & 9,000 0 9,000
Al 9,000
10 M3 ZXNANEHI2IHEXR 9,000 0 9,000
ONEEZ2MEA EAL 228 L 22K 4
g 3,600,000 3,600
Al 3,600
OMZALNI SEAIM SAK 2 L 2
oA =g 4,200,000 4,200
Al 4,200
OZAWMOLE ZNNFAIL SAX S ¥
el X = 1,200,000 1,200
Al 1,200
HEHAAAE SAR A2 =E 20,051 0 20,051
Al 20,051
307 21201 A 20,051 0 20,051
Al 20,051
10 M2 SXNANEHE2IHEX 20,051 0 20,051
ONFEAMGA BAK AR £g
7,530,000 7,530
Al 7,530
OdZANIHA ESAE SALL A2 =
8,338,000 8,338
Al 8,338
OZAMHOE FHNANE BAK A2l =
=4 4,183,000 4,183
Al 4,183
HE0ts AXIZ0E 2EAY 1,050 0 1,050
Al 1,050
201 Let24d] 1,050 0 1,050
Al 1,050
01 At 22l 1,050 0 1,050
OOlH0lE GHAXZO0IE 2SHX
1,050,000 1,050
Al 1,050
A28 JtE |4 7,087,931 5,151,153 1,936,778
= 3,830,139
Al 2,069,026
- 1,188,766
HASIHE Moty 1,720,467 925,489 794,978
= 1,318,887
Al 366,566
- 35,014




A OEESD
Mz AHAAE IIE 84
el HASIE MEOH (Sl &)
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SIERIIENE 2=H & XA 1,626,604 846,345 780,259
= 1,301,283
Al 325,321
301 et A= 1,626,604 846,345 780,259
= 1,301,283
Al 325,321
01 AISIE & A %52 1,626,604 846,345 780,259
OBIRRINERE LSH S N (HAS 8
2) 1,626,604,000& 1,626,604
= 1,301,283
Al 325,321
Hadst23d XX 22,005 15,539 6,466
2 17,604
Al 4,401
301 et M= 22,005 15,539 6,466
2 17,604
Al 4 401
01 Al E& A %52 22,005 15,539 6,466
OFAEEER NE XS 22,005,000 22,005
= 17,604
Al 4,401
SHE2JIE JEHus A 42,098 38,205 3,893
Al 21,964
- 20,134
301 et A= 42,098 38,205 3,893
Al 21,964
- 20,134
01 Al B & A 462 42,098 38,205 3,893
OBSRIIE DSy Yol L 222 X
1,830,000& 1,830
Al 1,830
OstE22II= ANFHuE X 40,268,000 40,268
Al 20,134
- 20,134
SIERIIE S&ED| MEod X2 29,760 25,400 4,360
Al 14,880
5 14,880
301 et M= 29,760 25,400 4,360
Al 14,880
5 14,880
01 AMFSIEXEE 252 29,760 25,400 4,360
OStER2IIE HYASH| 29,760,000 29,760
Al 14,880
- 14,880
R eme pE 4,657,890 3,658,569 999,321
= 2,263,332




HdEs0
A2s s g4
oy ol=Zet 25

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,488,429
T 906,129
stREIIE =EXAE X& 595,473 547,254 48,219
Al 595,473
307 glz2tol & 595,473 547,254 48,219
Al 595,473
10 AL SXAIEEE 2 H EX 595,473 547,254 48,219
OBIEIIE SXAL(AAXIH) X2
585,223,000 585,223
Al 585,223
OS=RZIE SNANL(AETNZH) EMIT =
NS RN 1,650,000 1,650
Al 1,650
OBLRIE SXAL(AFRNDR) SAR 5
[l | 1,400,000 1,400
Al 1,400
OBLRNESTAL(AMNLH) BAX S
b & 2k =Y 7,200,000& 7,200
Al 7,200
SIRERIEENAE JIsEZ 14,960 0 14,960
= 7,480
Al 7,480
402 2I2H X201 M 14,960 0 14,960
2 7,480
Al 7,480
02 QI EALEZ (OIS ) 14,960 0 14,960
OSRL2INESXAE JIsEB2AS
14,960, 000& 14,960
2 7.480
Al 7,480
SFRERINESIAANE Aok dEX=s -2z X2 6,336 3,500 2,836
= 3,168
Al 3,168
307 21201 A 6,336 3,500 2,836
= 3,168
Al 3,168
11T M SXALSE EX 6,336 3,500 2,836
OBR2IIE STAE YaX 48X - 2=
bl XI& 6,336,000 6,336
= 3,168
Al 3,168
BEQIE =2XNAL Y4AK HLYXE X 3,080 4,000 920
= 1,540
Al 1,540
307 21201 A 3,080 4,000 2920
= 1,540
Al 1,540




AN HEESH
Hu: AYE IS =Y
SR Ot eZeyt = (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 3,080 4,000 A 920
OSRL2INEFNAE 4T 4FXE X
3,080,000& 3,080
= 1,540
Al 1,540
StREIIE AZ00ISSAMElA XI& 34,617 49,563 A 14,946
= 24,232
Al 10,385
307 glz2tol & 34,617 49,563 A 14,946
= 24,232
Al 10,385
11T M ZXALSE EX 34,617 49,563 A 14,946
OAHO0IEsMElIA XIJ 34,617,000& 34,617
= 24,232
Al 10,385
MEL DHALS UH =2 QTAINE ALY 3,000 3,000 0
201 L2l 3,000 3,000 0
03 &Ar2 I 3,000 3,000 0
OXMEL DEALS UH =CQIAIDNE AL
3,000,000& 3,000
sSiEeizs A 400,000 401,840 A1,840
301 LEEAZ 400,000 401,840 A1,840
01 MEI2EZE 406z 400,000 401,840 A 1,840
Osdtdelz NA 400,000,000& 400,000
SMFOHAS AA 100,000 850,000 A750,000
Al 100,000
301 LEtEBA S 100,000 850,000 A750,000
Al 100,000
01 MEIBEE 53 100,000 850,000 A750,000
Osd=s0tNES 100,000, 000& 100,000
Al 100,000
2208 & U20ts XNEHYH 23 599,820 490, 380 109,440
= 299,910
Al 176,075
- 123,835
307 21201 A 599,820 490, 380 109,440
= 299,910
Al 176,075
- 123,835
05 BIZHRIE 3 599,820 490, 380 109,440
OHLNIFUSINEXNILH NI (SSAHHA
) 599,820,000 599,820
= 299,910
Al 176,075




R LR
HE: AYS IIE RA
e Iy oZet & (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
| - 123,835
ALINEXNJHEH 2 E2&H A& 30,600 28,800 1,800
Al 30,600
307 QI2t0| ™ 30,600 28,800 1,800
Al 30,600
05 QIZtR &2 30,600 28,800 1,800
OALINEXNJAEEH &2 EXH K&
30,600, 000& 30,600
Al 30,600
AAINEXNHE SAA EXXE AL 2,600 2,450 150
Al 2,600
307 212t0| & 2,600 2,450 150
Al 2,600
05 QIZtR E 2 2,600 2,450 150
OALINEXNJAHE SALX 22X K&
2,600,000& 2,600
Al 2,600
AAINEXNEE SAHA S A2 & H| 1,800 1,600 200
Al 1,800
307 212t0| & 1,800 1,600 200
Al 1,800
05 A2t E 2 1,800 1,600 200
OALINEXNJAHE SALA A2 &Y
1,800, 000& 1,800
Al 1,800
ALINEXNILHE SAX HHZAH L 22X 10,200 0 10,200
A (HRMA)
Al 10,200
307 QI2t0| ™ 10,200 0 10,200
Al 10,200
05 QIZtR &2 10,200 0 10,200
OHLINEXNJAHME SALA HSLIHAYI
10,200,000& 10,200
Al 10,200
FAADIOME XN 165,620 144,860 20,760
= 82,810
Al 82,810
307 Q12t0| ™ 165,620 144,860 20,760
= 82,810
Al 82,810
05 QIZtR &2 165,620 144,860 20,760
OFAADII=XA 165,620, 000& 165,620
= 82,810
Al 82,810
orol=8 XA 825,000 777,000 48,000




R LR
Hu: AL IS 84
el JbE ome 7 (S &2)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 577,500
Al 123,750
- 123,750
307 2iz2to| A 825,000 777,000 48,000
= 577,500
Al 123,750
- 123,750
11T AISIEXAIEEX 825,000 777,000 48,000
OootolEss N 825,000,000& 825,000
= 577,500
Al 123,750
- 123,750
Z2=20lLtsH 249 219,384 215,312 4,072
= 109,692
Al 54,848
2 54,844
307 QI2t0| & 219,384 215,312 4,072
= 109,692
Al 54,848
2 54,844
11 A EXAIEEX 219,384 0 219,384
OZ2=s=0lU=sH 29 219,384,000 219,384
= 109,692
Al 54,848
2 54,844
2= =20ILIsH AIE X & 30,000 18,000 12,000
307 2Iz2to| & 30,000 18,000 12,000
05 QIZ2tR EF 2 30,000 18,000 12,000
OZ2s=20lUsH MY X 30,000,000 30,000
HEFE Helo s 47,400 42,010 5,390
307 2iztol A 47,400 42,010 5,390
05 QIZtR EZS 47,400 42,010 5,390
O#H=E e el ssnd 47,400,000 47,400
ot ol2d 1,568,000 0 1,568,000
= 1,157,000
Al 287,700
- 123,300
301 et M= 1,568,000 0 1,568,000
= 1,157,000
Al 287,700
5 123,300
01 M3 EXEE 2562 1,568,000 0 1,568,000
OHFOE |23 NHE 1,568,000,000& 1,568,000
= 1,157,000
Al 287,700




AN HEESH
Hu: AL IS 84
el JIE olmet & CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | - 723,300
OG230t=E K& 709,574 567,095 142,479
=2 247,920
Al 214,031
- 247,623
ChE2tEXNEds 2 2,663 2,663 0
201 £8-2d | 1,713 1,713 0
01 At 22l 1,713 1,713 0
OUZaIIEXNEs &
70,0003 x12& +23| 1,680
Ot=IIEXNE s S+ M
33,000& x13] 33
203 YR =&t 950 950 0
03 AIZ=XH 2 =AY 950 950 0
OtzaitEs 3 =& 1,000,000& *95% 950
Ct23t S X &AL 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OU23ItE N ALY 15,000, 000& 15,000
2T U2 uFLS32H MY X2 65,000 67,000 A 2,000
307 glz2+ol & 65,000 57,000 8,000
05 RIZt2IE = 65,000 57,000 8,000
Ods U2 F[ASS2H ALY K&
65,000,000& 65,000
CEtuFLss2t 29 41,400 41,400 0
= 20,700
Al 10,350
T 10,350
307 glz2tol & 41,400 41,400 0
= 20,700
Al 10,350
- 10,350
05 RIZt2E = 41,400 41,400 0
OtU=2snsLrss2t 29 41,400,000 41,400
= 20,700
Al 10,350
- 10,350
Ct2stEXNJAMEH SAA 328 N2 21,600 22,450 A 850
Al 21,600
307 21201 A 21,600 22,450 A 850
Al 21,600
05 RIZt2IEt = 21,600 22,450 A 850




AN HEESH
Hu: AYE IS =Y
Sl 2SS X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OU2IIENIALEH SAL S=28H X
21,600,000& 21,600
Al 21,600
Ct2st it EXNEHEH SML =8+ XE 1,800 0 1,800
Al 1,800
307 gl2tol & 1,800 0 1,800
Al 1,800
05 RIZHRI & 3 1,800 0 1,800
OU2AINEXNZLEH SMHL SXNE+= X
1,800,000 1,800
Al 1,800
Ct2st S XN UE SAA A2 8H X& 1,800 0 1,800
Al 1,800
307 21201 A 1,800 0 1,800
Al 1,800
05 BIZIRI & 3 1,800 0 1,800
OUISIIIEXNAEE SAX A2 A XY
1,800,000 1,800
Al 1,800
CG23NsXNAHEH SAR S 2 22X =4 ( 7,200 0 7,200
HRIM)
Al 7,200
307 glz2tol & 7,200 0 7,200
Al 7,200
05 RIZHRI &3 7,200 0 7,200
OUISINEAHXNAAE AR XIS HI
7,200,000& 7,200
Al 7,200
Ct238t0ts SatAtd 334,501 294,556 39,945
= 167,250
Al 83,626
- 83,625
307 glz2tol & 334,501 294,556 39,945
= 167,250
Al 83,626
- 83,625
05 RIZIRIEt 3 334,501 294,556 39,945
OLU=aI=E SatAte 334,501,000& 334,501
= 167,250
Al 83,626
- 83,625
ZE0IQ X AS2ASALS 24,500 20,000 4,500
= 12,250
Al 6,125
- 6,125
307 21201 A 24,500 20,000 4,500




AN HEESH
Hu: AYE IS =Y
el OE3ots K& (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 12,250
Al 6,125
T 6,125
05 RIZHRI &t 3 24,500 20,000 4,500
OUZsitE g=0u= 24,500,000 24,500
= 12,250
Al 6,125
- 6,125
ROIt= ZE0I=HA G0 M 5,940 3,000 2,940
= 2,970
Al 1,485
- 1,485
307 21201 A 5,940 3,000 2,940
= 2,970
Al 1,485
- 1,485
05 BIZHRIE 3 5,940 3,000 2,940
OO0t 22004 CU0IS ALY
5,940,000 5,940
= 2,970
Al 1,485
- 1,485
Ch2shots s3d)] UHH MIES otdY 2= 89,500 0 89,500
= 44,750
Al 22,375
- 22,375
307 21201 A 89,500 0 89,500
= 44,750
Al 22,375
- 22,375
05 RIZtel & 3 89,500 0 89,500
OFAMeHE Y MZHY XJAAS
46,000,000 46,000
= 23,000
Al 11,500
- 11,500
OFe&EHl 5K 43,500,000& 43,500
= 21,750
Al 10,875
T 10,875
NEEse RIS X2AY 14,000 10,000 4,000
Al 7,000
- 7,000
307 glz2tol & 14,000 10,000 4,000
Al 7,000
- 7,000
05 RIZIRI & 3 14,000 10,000 4,000




A OEESD
Hu: AYE IS =Y
& UR3IIEs N (2 &HH)
i _ _ = -
SA BB (SH) - NRAY - B Ol At o gﬁ&i HRE2
OUR3IIE XY 0l=d 5K
10,000,000& 10,000
Al 5,000
- 5,000
OCI2EIIE 2% 382 918 WX 221
A 4,000,000& 4,000
Al 2,000
- 2,000
ChE3ItE X dIEzZ ALY 14,270 10,440 3,830
Al 14,270
307 2Iz2t0| A 14,270 10,440 3,830
Al 14,270
05 QIZ2tREF 2 14,270 10,440 3,830
OUE3IIE A HEH ALY 14,270,000 14,270
Al 14,270
250|00 X & Xel KNEAS 59,000 64,056 AN5,056
Al 29,500
- 29,500
307 gizto| & 59,000 64,056 AN5,056
Al 29,500
- 29,500
05 QIZtR ES 59,000 64,056 A5,056
OZ=0|2 X £Xtel XA 59,000,000 59,000
Al 29,500
- 29,500
CI23IIE Ols 22 3L A XA 2,400 4,000 A 1,600
Al 2,400
307 2I2+0 & 2,400 4,000 A 1,600
Al 2,400
11 A EXAIEEX 2,400 4,000 A 1,600
OUSSIE OlseY M HLAA A3AL
2,400,000& 2,400
Al 2,400
ChEstEs X2 X 4,000 4,000 0
Al 2,000
5 2,000
307 QI2t0| ™ 4,000 4,000 0
Al 2,000
5 2,000
11T A EXAIEEX 4,000 0 4,000
OUSSIIE =z ) 4,000,000& 4,000
Al 2,000
- 2,000
CIE3IE A1 JIIEXE AFY 5,000 3,000 2,000
Al 2,500
- 2,500




2N
X ZH -
L= B
el

HdEs0
A2s s g4
C=sts K&

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 5,000 3,000 2,000
Al 2,500
- 2,500
11T A EXAIEEX 5,000 3,000 2,000
O%IIIA Ji=x8 AtY 5,000,000& 5,000
Al 2,500
5 2,500
g8 . g 38,931,537 37,924,273 1,007,264
= 18,491,013
Al 14,654,105
- 5,786,419
SOtEsEAHE A J|HtE = 38,451,537 37,744,373 707,164
= 18,293,013
Al 14,555,105
- 5,603,419
BSNA2 olAHH XN (2HEX) 6,033,885 5,464,067 569,818
= 3,620,331
Al 1,689,488
- 724,066
307 2iz2to| A 6,033,885 5,464,067 569,818
= 3,620,331
Al 1,689,488
- 724,066
10 MM SAANEEHESIHEX 6,033,885 5,464,067 569,818
OBSWAS ClAHH (ZHIEX)
6,033,885,000& 6,033,885
= 3,620,331
Al 1,689,488
- 724,066
SBSWA2 olAHHl K& (XHA) 49,167 44,708 4,459
307 2izto| A 49,167 44,708 4,459
10 MM SAANEEHESIGHEX 49,167 44,708 4,459
BEWNAI CHH(22E It 0lE)
49,167,000 49,167
HE0IXNY H2l0l& =2l eAHHl XK (AHEX) 172,800 170,102 2,698
Al 86,400
- 86,400
307 2iz2to| A 172,800 170,102 2,698
Al 86,400
- 86,400
10 M SAANEEHESIGHEX 172,800 170,102 2,698
OFL20IXNY Hl0ol& =l erAdl X (Al
HEX) 172,800,000 172,800
Al 86,400
- 86,400




A EESD
HE: 2% )t X
S GRUESMHEIAL J|EtES (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ESWXa MMM XN (EXZDDA, HAEEBH MW 2,399,150 2,154,972 244 178
AbO1HH])
= 1,439,490
Al 671,762
5 287,898
307 QI2t0| & 2,399,150 2,154,972 244 178
= 1,439,490
Al 671,762
- 287,898
10 A SXAANEEHESIGHEX 2,399,150 2,154,972 244 178
OBX WA, HAEBE M)A O12HH|
2,399,150,000& 2,399,150
= 1,439,490
Al 671,762
3 287,898
BE2WX2A HRQOHA XA (M RA 1 HHl) 151,800 104,165 47,635
= 75,900
Al 37,950
- 37,950
307 QI2t0| & 151,800 104,165 47,635
= 75,900
Al 37,950
- 37,950
10 A SXANANEEHESIGHEX 151,800 104,165 47,635
OWUH™ A 214 8| 151,800,000 151,800
= 75,900
Al 37,950
- 37,950
BN HRMHNH N (RAI2SSHIHA&H]) 1,405,700 1,555,200 A 149,500
= 843,420
Al 393,596
- 168,684
307 212t0| & 1,405,700 1,555,200 A 149,500
= 843,420
Al 393,596
- 168,684
10 M SXANEEHESIGHEX 1,405,700 1,555,200 A 149,500
OUAIZ2EHIM A 1,405,700,000& 1,405,700
= 843,420
Al 393,596
5 168,684
E2WX2 HRHAH N (WAIE XX G 54,000 63,010 A9,010
= 32,400
Al 15,120
- 6,480
307 2izto| A 54,000 63,010 A9,010
= 32,400
Al 15,120




AN HEESH
B 8% 05 X@
el GRUMESAMHIAL DS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 6,480
10 ALSISXAIEEE 22X 54,000 63,010 A9,010
OuAIEHAZE =& 54,000,000 54,000
= 32,400
Al 15,120
- 6,480
SSUA HRMEEI(ALIEX) 1,227,480 1,271,040 A 43,560
Al 613,740
- 613,740
307 21201 A 1,227,480 1,271,040 A 43,560
Al 613,740
- 613,740
10 ALSISXAIEEE2IHEX 1,227,480 1,271,040 A 43,560
OBSuwAl MRIMEHI(AIHIEX)
1,227,480,000& 1,227,480
Al 613,740
- 613,740
EFWA HRMEBI (XA 854,040 809,400 44,640
307 21201 A 854,040 809,400 44,640
10 ALSISXAIEEE2GHEX 854,040 809,400 44,640
OBSwWAL HRIM& XI& (XA 854,040
—BFUAM EXNE 609,600,000 609,600
—JlZ2sE 86,040,000 86,040
~HHOIHYES DA =N+Y
200,000& *11H~12& 26,400
—SANE 282 200,000 x5H «12& 12,000
-2SDNY ¥ELY
50,000& *1,200H »23| 120,000
Moy X (W -4l) 55,677 43,528 12,149
= 33,400
Al 15,587
- 6,690
307 glz2tol & 55,677 43,528 12,149
= 33,400
Al 15,587
T 6,690
10 AL SXAIEEE 2 H EX 55,677 43,528 12,149
O w4l 55,677,000& 55,677
= 33,400
Al 15,587
- 6,690
OEgold 2N (HE29d) 2,400 2,700 A 300
= 1,440
Al 672
- 288
307 21201 A 2,400 2,700 A 300




A 2=
HE: 2% )t X
e 9QOESFAHIAS J|EtE = (e H)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= T.420
Al 672
- 288
10 MM SAANEEHESIGHEX 2,400 2,700 A 300
OXgad9| 2,400,000 2,400
2 1,440
Al 672
- 288
E4£0E0d 249 A& 102,050 59,668 42,382
Al 51,025
- 51,025
307 QI2t0| & 102,050 59,668 42,382
Al 51,025
5 51,025
10 A SEXNANEEHESIGH EX 102,050 59,668 42,382
OEXe0d 2% 63,638,000 63,638
Al 31,819
- 31,819
OZ0HOIEE BEXWAF XIS 38,412,000 38,412
Al 19,206
- 19,206
OEE OfRI0IT XA 204,946 231,560 26,614
Al 104,473
5 100,473
307 QI2t0| ™ 200,946 227,560 N26,614
Al 100,473
- 100,473
10 Al SXNANEEHESIGHEX 200,946 227,560 N26,614
OCFEEH Helold 2EH| 200,946,000 200,946
Al 100,473
- 100,473
402 QI2H X201 M 4,000 4,000 0
Al 4,000
02 CIZEXIEAISE X (0| XM THL) 4,000 4,000 0
OIS Helold &3 IMAb] 4,000,000& 4,000
Al 4,000
el o] ditety| 67,246 68,696 AN 1,450
Al 33,623
- 33,623
307 giztol A 67,246 68,696 N 1,450
Al 33,623
- 33,623
10 MM SAANEEHESIGHEX 67,246 68,696 A 1,450
O0elolE YWitery| 67,246,000 67,246
Al 33,623
- 33,623
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SN LRSI
M B0t X
el dRotEFMHIAL J|gtES (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=3& HIO0e0ldE 2 X& 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
05 BIZHRI & 3 10,000 10,000 0
O2Z BICIORIOIE 2|
2,500,000& » 101 & x42 J| 10,000
elold etsAIoF 2FH X& 704,704 0 704,704
Al 352,352
T 352,352
307 21201 A 704,704 0 704,704
Al 352,352
- 352,352
10 M2 SXNANEHES2IHEX 704,704 0 704,704
OO0EOol& BH5AloH 22&EHl XI&
704,704,000 704,704
Al 352,352
- 352,352
HE HASS0ts E g K& 70,740 94,140 223,400
Al 35,370
- 35,370
307 21201 A 70,740 94,140 223,400
Al 35,370
- 35,370
10 ALSISXAIEEER2IHEX 70,740 94,140 223,400
O8E MNASE0s 223H XA
70,740,000 70,740
Al 35,370
- 35,370
FR0XNIANE 22HE=SZ A2 577,188 544,968 32,220
Al 188,896
- 388,292
307 21201 A 577,188 544,968 32,220
Al 188,896
T 388,292
10 ALSISXAIEEE2IHEX 577,188 544,968 32,220
OHBHASE OIS BROXNEANE 222
g2sg & 35,172,000& 35,172
Al 17,586
- 17,586
OUXHIIE 22RgE=sE2 N
58,224,000& 58,224
Al 40,757
- 17,467
ORZRg:Esz K& 483,792,000 483,792
Al 130,553
T 353,239
HELFLEY X2 2,146,768 3,238,462 ~1,091,694




A 2=
Y B - IJIF XN
S dRUEEAHHIAS DlEtstsE (chel & 9l)
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 1,610,076
Al 375,684
- 161,008
301 et A= 2,146,768 3,238,462 A 1,091,694
= 1,610,076
Al 375,684
- 161,008
01 Al E & A 46 2 2,146,768 3,238,462 A 1,091,694
OJIdsd=r4= N 2,146,768,000& 2,146,768
= 1,610,076
Al 375,684
- 161,008
Sty 29 6,495,944 6,122,560 373,384
Al 6,495,944
307 QI2t0| & 6,495,944 6,122,560 373,384
Al 6,495,944
11T A EXAIEEX 6,495,944 6,122,560 373,384
Sy B2 4,864 ,080,000& 4,864,080
Al 4,864,080
OfclHd g 1,631,864,000& 1,631,864
Al 1,631,864
A0 EE2 XS 14,105,594 14,326,600 A 221,006
= 10,579,195
Al 2,468,479
- 1,057,920
307 QI2t0| & 14,105,594 14,326,600 A 221,006
= 10,579,195
Al 2,468,479
- 1,057,920
11T AISIEXAIEEX 14,105,594 14,326,600 A 221,006
Og9Rot B2 A 14,105,594,000& 14,105,594
= 10,579,195
Al 2,468,479
- 1,057,920
M2 XIS E (AIZ2EAN E 53,276 125,300 NT2,024
= 26,638
Al 13,319
- 13,319
307 212t0| & 53,276 125,300 NT2,024
= 26,638
Al 13,319
- 13,319
10 M SXANEEHESIHEX 53,276 125,300 NT2,024
OMNZUXEE (AMZHH)ES 53,276,000 53,276
= 26,638
Al 13,319
- 13,319
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AN HEESH
HH: BSOS X8
el dRotEFMHIAL J|gtES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Exone 25 9,804 8,504 1,300
201 £B-2d| 7,904 6,604 1,300
01 At 22l 7,404 6,104 1,300
O3 M3 29 100,000& =132 *43| 5,200
OEgo et RES 918 A2 EH|
1,000, 000& 1,000
O0eold 2o, NEEH & wsdHA S8
6,400& x1603] 1,024
O =8Ad 2E&H WM& 30,0003 =604 180
02 =24l 500 500 0
ORERS 500,000& 500
203 R =&t 1,900 1,900 0
03 A F=XH R =AY 1,900 1,900 0
OE=sA =& 1,000,000& *95% 950
OBsAE g8 =2 1,000,000& *95% 950
Helold Esudd /IS 21,600 21,600 0
201 £B-2dH| 18,000 18,000 0
03 A2 Z Hl 18,000 18,000 0
OORO0lE ERuAA 998
9,000,000& x23l 18,000
301 gEEd = 3,600 3,600 0
09 SALAHIX A S 3,600 3,600 0
O0elold EfuAY IS (SHl)
,000& 450 3,600
SEEY FHAHFE 29 A 264,274 256,780 7,494
Al 132,137
- 132,137
307 21201 A 264,274 256,780 7,494
Al 132,137
- 132,137
05 BIZERIE 3 264,274 256,780 7,494
OEEEE FHZ3AE 2gH X&
264,274,000 264,274
Al 132,137
- 132,137
S3EHE0E 224 226,705 217,195 9,510
Al 199,500
- 27,205
307 21201 A 226,705 217,195 9,510
Al 199,500
T 27,205
11T M3 SXAISEEX 226,705 217,195 9,510
OZ23280e0ld 24| 226,705,000 226,705
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H&dE=sD
25 0t& N
FFOEFMHIAL DBt E ool E )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 199,500
T 27,205
3800l =2l A 81,000 81,000 0
Al 40,500
- 40,500
307 glz2tol & 81,000 81,000 0
Al 40,500
- 40,500
11T M SRAISE EX 81,000 81,000 0
O33g0eold =2I& elddl 81,000,000 81,000
Al 40,500
- 40,500
SN0y g4ds XA 3,196 7,200 A 4,004
Al 1,598
T 1,598
307 glz2tol & 3,196 7,200 A 4,004
Al 1,598
T 1,598
11T MISRASEX 3,196 7,200 A 4,004
SSENE0E 2435 XN (KO0t )
& 3,196
Al 1,598
- 1,598
gold #2424 X 531,049 549,836 N 18,787
Al 371,734
T 159,315
307 glz2+ol & 531,049 549,836 N 18,787
Al 371,734
T 159,315
11T MISRASER 531,049 549,836 AN 18,787
O0eold 3324s4 XA 531,049,000& 531,049
Al 371,734
- 159,315
FIIUHEH 29 6,600 7,920 A1,320
= 3,300
Al 1,650
- 1,650
301 LA F 6,600 7,920 21,320
= 3,300
Al 1,650
- 1,650
12JIE243 6,600 7,920 21,320
FRDUHEHH 2S243 6,600,000 6,600
= 3,300
Al 1,650
T 1,650
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AN HEESH
¥y 295015 X2
el dRotEFMHIAL J|gtES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EsdE 23 XA 1,320 1,320 0
201 £B-2d| 120 120 0
01 At 22l 120 120 0
OBsdUE A= M= 120,000& 120
301 LEEAZ 1,200 1,200 0
12 JIEE 4= 1,200 1,200 0
OE=RUE &5 ¢ 1,200,000 1,200
Heold dK0t HMEH Ity XN 18,054 19,350 A1,296
Al 9,027
- 9,027
307 21201 A 18,054 19,350 21,296
Al 9,027
- 9,027
11T M3 SXAISEEX 18,054 19,350 A 1,296
O0eold MHAots HAdEH JtH =
18,054,000& 18,054
Al 9,027
- 9,027
OlOIAIZ ZBH 2 (SIHIEX) 86,552 0 86,552
= 27,423
Al 29,565
- 29,564
307 21201 A 86,552 0 86,552
= 27,423
Al 29,565
- 29,564
05 RIZt2IEt = 86,552 0 86,552
OOtOIANZ EH 2LHI(ZHIEX)
86,552,000& 86,552
= 27,423
Al 29,565
- 29,564
OtOIAtE EH &Xl & 299 209,828 0 209,828
Al 104,914
- 104,914
307 21201 A 129,828 0 129,828
Al 64,914
T 64,914
05 RIZt2IE = 129,828 0 129,828
OOt0IALE BH 2gH| 129,828,000& 129,828
Al 64,914
- 64,914
401 Al HI K 2018 60,000 0 60,000
Al 30,000
- 30,000
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SN HERS Y
M B0t X
Sl AROIESMHIAY J|eEE EEREED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 59,460 0 59,460
OOIOIAtE B H AX(21223) 59,460,000& 59,460
Al 29,730
- 29,730
03 Al =2 THHI 540 0 540
OOIOIAtE B E &X(22E2d) 540,000& 540
Al 270
T 270
405 RHoHF S HI 20,000 0 20,000
Al 10,000
- 10,000
01 AL EZFH S 20,000 0 20,000
OOOIAtZE B EH AXI (A 7))
20,000,000& 20,000
Al 10,000
- 10,000
ooy Z2d9=3 XN& 42,000 68,822 N 26,822
Al 21,000
- 21,000
307 gl & 42,000 68,822 N 26,822
Al 21,000
- 21,000
10 AL SXNAIEEE2EHEX 42,000 0 42,000
ONgold gdes XN 42,000,000& 42,000
Al 21,000
- 21,000
Oelold otsstti(ae)X= XA 5,000 0 5,000
301 LEEXS 5,000 0 5,000
01 MEIBZE 5= 5,000 0 5,000
Ooglold otsstth (Mel )= X
5,000,000& 5,000
Helold JlIsdst 480,000 179,900 300, 100
= 198,000
Al 99,000
- 183,000
HeolE JIs22(XH) 44,000 44,000 0
402 BI2HX=01 M 44,000 44,000 0
03 212t & AHH HI 44,000 44,000 0
OFEXNHNE0E JIsEL(HE=)
44,000,000& 44,000
Mol JIsEL(Ex) 36,000 15,900 20,100
= 18,000
Al 9,000
- 9,000
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AN HEESH
Hu: 8% 015 X8
el g0y JsdE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 36,000 15,900 20,100
= 18,000
Al 9,000
- 9,000
02 QI EAILEZ (01X S) 6,000 15,900 A 9,900
OF=EXNAN0IE JIsE22(&HHldl)
6,000,000 6,000
= 3,000
Al 1,500
T 1,500
03 212t &AL S HI 30,000 0 30,000
OFEXNHN0E JIsEL(HE=)
30,000,000& 30,000
= 15,000
Al 7,500
T 7,500
ogod &= 400,000 120,000 280,000
= 180,000
Al 90,000
- 130,000
401 Al HIZ 201 I 300,000 100,000 200,000
= 150,000
Al 75,000
- 75,000
01 A& HI 297,600 99,200 198,400
Oz el2g¥ 99,200,000 *3H 2 297,600
= 148,800
Al 74,400
- 74,400
03 Al S HHI 2,400 800 1,600
O2=s=8 2224 800,000 =34 2 2,400
= 1,200
Al 600
T 600
402 BI2FX=01 M 100,000 20,000 80,000
= 30,000
Al 15,000
T 55,000
01 22t 2 A B (KA ) 40,000 0 40,000
O=2380&olE JIXM
40,000,000 =104 2 40,000
02 QI EAILSEZ (01X THE) 60,000 20,000 40,000
O=380&old JIXM
20,000,000 *3H 2~ 60,000
= 30,000
Al 15,000
T 15,000
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